
 11.4 Sequence Notes 

Sequence: 

Term: 

How to find the next term in a sequence: 

 

 

Arithmetic:        Geometric: 

 

72, 60, 48, _____, _____, _____, …    4, 8, 16, _____, _____, _____, … 

Common Difference:      Common Ratio: 

 

 

Recursive:        Recursive: 

 

Explicit:        Explicit: 

 

Find 𝑎21:        Find 𝑔14: 

 Explicit Recursive 

Arithmetic 𝑎𝑛 = 𝑎0 + 𝑑𝑛 
 
𝑎𝑛 = 𝑎𝑛𝑦 𝑡𝑒𝑟𝑚 
𝑎0 =  𝑡𝑒𝑟𝑚 𝑧𝑒𝑟𝑜 
𝑑 = 𝑐𝑜𝑚𝑚𝑜𝑛 𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒 

𝑎0 =          
𝑎𝑛 = 𝑎𝑛−1 + 𝑑 

 

  

Geometric 𝑔𝑛 = 𝑔0 ∙ (𝑟)𝑛 
 
𝑟 = 𝑐𝑜𝑚𝑚𝑜𝑛 𝑟𝑎𝑡𝑖𝑜 

𝑔0 =              
𝑔𝑛 = 𝑔𝑛−1 ∙ 𝑟 


